LETES VerH

000000

=]

)

s il

=

ifo e
2]

|l & i
) @ £ [ E
ic3 @ J || mmmmmm %ﬂm
902 3675
M
@L [0
Technical requirements: 2 | STM-607W-D-B-ALL | internal structure 1
1. Trimming and deburring; 1| STM-910wW-D-A-ALL |External shest metal 1
2. Dimensional tolerances not specified : k5 £ % 4 % R RE| A
shall be in accordance with GB/T1804-2000 HE Be|l A |[BFE STM.00TW-D E%STM C0TW_DALL_7P EWJ‘ 1o | HE|
Tglerar.lces f9r linear ar‘ld.angular it ¥ e B e 6@ "E|
dimensions without specified tolerances % PN -
The M-level regulations. Ver Verk 20200222 | By SN £2rrasnstRan AEER |/
Wi ERY e EHA | BE |¥B B | 20201222 Shini Plastics Technologies, Inc. %ﬁ%‘ ;




Technical requirements:

1. Remove burrs and burrs, and

blunt edges;

2. Dimensional tolerances not
specified should comply with

Requirements of GB/T1804-m.

Lo STM-607W-D-B-02 Heating Tank 2 Velding parts
45 BE90340200050 Thermocouple SUS304 | 2 M
L YW66061300000 Flat washer A grade 6 A235A 2
L3 YR20121200000 Flexible graphite pad 1S0-68 2 120x120x2.0
L2 STM-910W-D-B-13 Solenoid valve drainage pipe 2 SUS30L | 1 Borrowed
41 YW6L000600300 Hexagon nut M6 QA235A | 10 GB/T6170
40 YW65060000000 Standard spring washer 6 65Mn 8 GB/T93
39 YW66061800000 Large washer A grade A235A | 16 GB/T96.1(6x18x15)
38 YW60062500000 Hexagon screw bolt M6x25 L8 8 GB/T5781
37 STM-607W-D-B-01 Pump connector 2 Velding parts
36 YR10551500000 Graphite gasket 1S0-68 2 for MP-55
35 S-1T1 Teflon plug H58 2 3/8"H pluc
34 YW04030800400 Tonflon connector H58 2 1/L"PTx3/8"H L
33 S-118 Copper joint 1/2PT + 3/4B « 1/4 middle hole 2 H62 2 | 3/4"H/1/2" FT external teeth 1/4 "PT internsl teeth
32 YW52030800000 3/8"Stainless steel three—way SUS30L | 2
31 YW05083800100 Sleeve connector A 8MMX3/8"PT [ -Iype (H59)
30 YW61083000000 Tnner hexagon cylindrical serew M8x30 12.9 2 GB/T701
29 STM-607W-D-B-04 Hot water bypass SUS30L | 2
28 YW62051000100 Cross socket flat-head screw M5x10 | QA235A 4 JISTN
27 BH90115000050 High-temp. tester 2 EGD
26 STM-607W-D-B-05 Cooling water inlet pipe 1 SUS304 1
25 YW05083800000 Sleeve connector 2 8MMX3/8"PT (H59)
24 S-50 Copper conmector H58 2 3/8"PTx1/4"PT
23 STM-607W-D-B-03 Return water pipe 2 welding parts
22 YW66081900000 Flat washer 8 A235A | & 8x19x2.0
21 YW65008000100 Standard spring washer 8 65Mn L GB/T93
20 YW61082001200 Inner hexagon cylindrical serey M8x20 12.9 10 GB/T70.1
19 YW50030800900 Ball valve H58 2 3/8"
18 STM-910W-D-B-05 High pressure pipe 2 SUS304 | 1 Borrowed
17 YW05061400100 Sleeve connector 2 6MMX1/4""PT [~fype(H59]
16 S-190 Heating tube cover SPCC10 | 2
15 YW66102000100 Flat washer A grade 10 Q235A 8 GB/T97.1(11x20x2)
14 YW61102500000 Inner hexagon cylindrical screw M10x25 12.9 8 GB/T701
13 YW65010000000 Standard spring washer 10 65Mn 8 GB/T93
12 STM-910W-D-B-12 Solenoid valve drainage pipe 1 SUS304 1 Borrowed
1 YW05081400000 Sleeve connector 2 8MMX1/4"PT [ -fypelH59)
10 YW6L000600000 Hexagon nut M5 a235A | 22 GB/T61721
9 YW66051300000 Flat washer A grade 5 Q235A 12 GB/T97.1(55x10x1)
8 STM-60TW-F-ALL Heating tube assembly 2 welding parts  Borrowed
7 STM-910W-D-B-01 Cold water bypass SUS304 1 Borrowed
52 YES0000800000 Low pressure switch controller PVC 1 0-8KG/Auto 6 STM-910W-D-A-09 Cooling water outlet assembly 1 Borrowed
51 STM-910W-D-B-04 Pressure gauge pipe SUS304 | 2 Borrowed 5 STM-910W-D-A-10 Cooling water inlet assembly 1 Borrowed
50 YWO05061400000 Sleeve connector 1 6MMX1/L""PT(H59) L STM-910W-D-B-02 Low pressure pipe SUS304 1 Borrowed
L9 S-199 H to PT connector H58 5 1/L"H to 1/4"PT female thread 3 STM-607W-D-B-06 Cooling water inlet pipe 2 SUS304 1
L8 Yw85001000100 Pressure gauge 2 0~1.0MPa Range 2 YE90832500000 High and low pressure switch 2024 1 HLP830HME
L7 STM-910W-D-B-03 High pressure pipe 1 SUS304 1 Borrowed 1 TP-55 TP-55 pump 2 0.55KW 27L/min 3.8bar Anbo
g K% 4 % LR S § 5.3 i R % £ & LR & § £
Gl & WA STMOTWD B W] o [BE|
it B Lo =R
L%} s SHINI ::vsnesnnia REER
)ﬁ?‘iﬂ E&%ﬁ_ i&)ﬁ E&/\ Hm *ﬁ E;@ Shini Plastics Technologies, Inc. %ﬁ% ‘




LETES VerH
] Ly == °®
° ® =S| | Sonmanannn
e— ) ==|| TTTTTTTTe T
ZE o @o
A
| ﬁ ®
oz
[Z23]
° @ g =
=216 | |
=L |l &
] i Mle—a ||
° o] || =EmmmEmEET £
3675 902
B
_I© @
®
. . 2 STM-910W-D-B-ALL Internal structure 1 | Structure parts
Technical requirements:; 1 STM-910W-D-A-ALL | External sheet metal 1
1, Trimming and deburring; F¥ ® % 4 % R RE| A
2. Dimensional tolerances not specified shall L EE
be in accordance with GB/T1804-2000 ﬂfﬂ L S onED STM-910W-D-ALL | o [RE|
Tolerances for linear and angular dimensions Wit B a%H 6@ HE|
without specified tolerances Ver VerH 20200222 | e ® P ERERmRERERAT | KEER /
The M-level regulations. Wi ERy ERE ERA | B %% B | 20211216 SHIN Shini Plastics Technologies, Inc. %;‘e}%‘ /




Technical requirements:
1. Remove burrs and burrs;

2. Dimensional tolerances not

specified should comply with

Requirements of GB/T1804-m.

L6 YW85001000100 Pressure gauge 2 0~10MP2a Range
45 S-199 H to PT connector H58 5 1/4"H to 1/4"PT female thread
L STM-910wW-D-B-13 Solenoid valve drainage pipe 2 SUS304 1 Borrowed
L3 YWO05061400100 Sleeve connector 2 6MMX1/L""PT L-type (H59)
L2 STM-910W-D-B-08 Return water pipe 2
41 YW60102000000 Inner hexagon cylindricel screw M10x20 12.9 8 GB/T70.1
40 YR10110000000 MP-100 Graphite gasket IS0-68 | 2 has mould
39 S-50 Copper connector H58 2 3/8"PTx1/L"PT
38 S-89 Copper connector (3/4PTe3/411%1/4 middle hole) H62 2 |3/4"H. 3/4" PT external teeth 1/4 "PT internal testh
37 STM-910W-D-B-07 Pump connector 2 welding parts
36 S-17 Teflon plug H58 2 3/8"H plug
35 YWO0L030800200 Tonflon pipe male thread comnector H58 2 3/8Hx1/4PT L-type
34 YW66061800000 Large washer A grade Q235A 16 GB/T96 1(6x18x15)
33 YW60062500000 Hexagon screw bolt M6x25 LB 8 GB/T5781
32 YW65060000000 Standard spring washer 6 65Mn 10 GB/T93
31 STM-910wW-D-B-10 VWater supply pipe 1 SUS304 1
30 YW05083800000 Sleeve connector 2 8MMX3/8"PT (H59)
29 YW52030800000 3/8" Stainless steel three-way SUS30L | 2
28 YW05083800100 Sleeve connector L 8MMX3/8"PT L-tiype (H59)
27 YES0832500000 High and low pressure switch 2024 1 HLP830HME
26 YW62051000100 Cross socket flat-head screw M5x10 | QA235A & JISTN
25 BH90115000050 High-temp. tester 2 EGD
24 STM-910W-D-B-09 Yater supply pipe 2 SUS304 1
23 YEJ0000800000 Low pressure switch controller PV 1 0-8KG/Auto
22 STM-910W-D-B-11 Hot water bypass SUS304 | 2
21 YW61083000000 Inner hexegon cylindrical serew M8x30 12.9 A GB/T70.1
20 YW65008000100 Standard spring washer 8 65Mn A GB/T93
19 YW66081900000 Flat washer 8 A235A | & 8x19x2.0
18 YW50030800900 Ball valve H58 2 3/8" KITZ heat-resistant 180°
117 STM-910W-D-B-05 High pressure pipe 2 SUS304 1 Borrowed
16 YW05081400000 Sleeve connector 2 8MMX1/4"'PT L-type (H59)
15 YW65010000000 Standard spring washer 10 65Mn 8 GB/T93
14 YW66102000100 Flat washer A grade 10 A235A 8 GB/T97.1(11x20x2)
13 YW61102500000 Inner hexagon cylindrical screw M10x25 129 8 GB/T70.1
L 3 |2\ 12 YW66061300000 Flat washer A grade 6 a235A 2
1 YW6L000600300 Hexagon nut M6 a235A | 10 GB/T6170
10 STM-910W-D-B-12 Solenoid valve drainage pipe 1 SUS304 1 Borrowed
9 STM-910W-D-B-06 Heating Tank 2 welding parts
8 YR20121200000 Flexible graphite pad 1S0-68 2 120x120x2.0
7 S-190 Heating tube cover SPCCI0 | 2
6 STM-910W-D-B-01 Cold water bypass SUS30L 1 Borrowed
5 STM-910W-D-A-09 Cooling water outlet assembly 1 Borrowed
50 STM-9510W-D-B-04 Pressure gauge pipe SUS304 | 2 Borrowed L STM-910W-D-B-02 Low pressure pipe SUS30L | 1 Borrowed
49 BE90340200050 Thermocouple SUS304 1 M 3 STM-910W-D-A-10 Cooling water inlet assembly 1 Borrowed
48 YW05061400000 Sleeve comnector 7 6MMX1/4""PT(H59) 2 STM-910W-D-B-03 High pressure pipe 1 SUS30L | 1 Borrowed
41 BES0342500050 Thermocouple SUS304 1 25M 1 BM20007500550 TP-75 pump A235A 2
fida R % % % #H hE £ 5 f % £ & LR 4 £
L W oD [EE we| (e
it B Lo =R
L%} s SHINI i5zrensernnia REER
ﬁ‘iﬂ E&%ﬁ_ i&)ﬁ E&/\ El?}i *ﬁ E;@ Shini Plastics Technologies, Inc. %ﬁ’% ‘




] Q{;’{

g

@@\ g

- 34

S
o | —
—

Technical requirements:
1. Trimming and deburring;

3675

2. Dimensional tolerances not specified shall
be in accordance with GB/T1804-2000
Tolerances for linear and angular dimensions

without specified tolerances

The M-level regulations.

36 ==
37
h \z L0 YE67321500100 Copper nickel plated cable conmector H62 1
S 39 YP31051650000 Power aluminum plate label 2024 1 | Power trisngle 3-phase 400V
N\E @ @ 38 YRLO0LB500000 Shell RS485 1
37 YE90048501200 RS485 interface board 1
140 \& 36 YP30048500000 Aluninun label 2024 1 | 485 Communication connector
35 YP30429000000 Aluminum label 2024 1 Drain outlet
Lo || s 3L YP30431000000 Aluminun lzbel 2024 1 Vater inlet
e 33 YP31091040000 Aluminun 1abel 2024 1 | Regularly clean the filter
@ -@jf‘ 32 YW63040600000 Cross recessed pan head screw MLx6| (Q235A L GB/T-823
31 YP30422000000 Aluminun label 2024 2 from mould
775 30 YP30425000000 Alvminun label 2024 2 Pressure gauge
29 YP30430000000 Aluminun label 2024 1 Water outlet
28 YEBLD03500600 buzzer PK-35A 24V PVC 1
27 YP30423000000 Aluminun label 2024 2 To mould
26 STM-910W-D-A-08 Rear panel small cover plate| SPCC15 2
25 YW6L000600300 Hexagon nut M6 0235A 8 GB/T6170
24 S-66 Vater flow distributor joint 2 Welding parts
23 YW66061300000 Flat washer A grade 6 Q235A | 12
22 YW62063000000 Targe cross socket flst head serev M6x30 | Q1235A 8 JIS1Tm
21 STM-910W-D-A-07 Cover plate SPCC12 | 1
20 STM-910W-D-A-06 Side plate SPCC12 | 2
19 YP30802700000 Shini Trademark AR 1 black
18 YP30437000000 Aluminum label 2024 1 SHINI Nameplate
17 YW62051000100 Lazge cross socket flat head serew M5x1 Q235A 12 JISTM
16 YW06203100100 Hinge 2 CL203-1 (left) Shengiiu
15 YW00816100000 Door lock 2 MS816-1 With keys
14 YP31115800600 Aluminun label 2024 1 STM Maintenance
13 STM-910W-D-A-04 Base plate of control box 1 Welding parts
12 STM-910W-D-A-03 Door plank SPLCIS | 1
i YW90120700000 Aluminua cooler 6061 2
10 YW62061000000 lLarge oross socket flst head screy Mox1) QZ235A 10 JISm
9 YW66061800000 Large washer A grade Q235A | 16 GB/T96.116x18x15]
8 SG-S-01 Vire fixture fixed plate | SPCC2.0 | 1
7 YW03000300200 3" ¥ithout castor with brake| Q235A 2
6 STM-910W-D-A-02 Control box SPCC2.0 1 Borrowed
5 STM-910W-D-A-05 Support plate SPLC20 | 1
A STM-910W-D-A-01 Rack 1 Welding parts
3 YW03000300000 3% With castor with brake | Q235A 2
2 YW60061500100 Hexagon screw bolt M6x16 129 20 GB/T5783
1 YW65060000000 Standard spring washer 6 65Mn 20 GB/T93
K% K % 4 % LLiaE.¢ | £t
Gk Be| A R stvowwop |EE IR
STM-910W-D-A-ALL
it ¥ hae —1 & k|
ExK 020722 | BERY * SN treraannanan | KX
| ERW ERE ERA B |98 Bl | 2021216 | Shini Plastics Technologies, Inc. %ﬁ%‘ /




8 YW05083800100 Sleeve comnector 2 8MMX3/8"PT  L-type (H59)
6 YW52030800000 3/8" stainless steel three-way | SUS30L 1
. . 5 S-07 Copper pipe coupler HS8 1 3/8"PTx3/8"PT
Technical requirements: ; — -
A S-137 First set of copper joints 1 2-1/L"PT
1. Remove burrs and burrs;
. . ip. 3 YW05061400000 Sleeve connector 2 6EMMX1/L"PT(H59)
2. Dimensional tolerances not specified ; »

. i YW57010200000 Y Type Strainer H62 1 172" PT 30-35 mesh
should comply with — -
Requirements of GB/T1804-n 1 S-73 Copper joint H62 1 M13x1/2"PT

) Fg R % % & " HE it
il 5 B STM-910W-D | HE
- X : STM-910W-D-A-10
Rit B BHAHALE DA A O MR
- P, . B
il * SHIN :5rnssnsn  FEEE
ﬁilﬂ iﬂ(ﬁ? E& )ﬁ E& A H Eq ?*f( H ﬁg Shini Plastics Technologies, Inc. %*I‘% ‘




188.5

7
123
6 YW05083800100 Sleeve connector 2 8MMX3/8"PT L-type (H59)
Technical requirements: 5 YE32203000900 Solenoid valve 2 3/8" Air TAC 24VAC
1. Remove burrs and burrs; 4 YWO04030800100 Pipe coupler H62 2 3/8"PT(L)
2. Dimensional tolerances not specified 3 YW52030800000 3/8" stainless steel threeway | SUS304 | 1
should comply with 2 YW05061400000 Sleeve comnector 1 EMMX1/L"PT(HS9)
Requirements of GB/T1804-m. 1 S-141 e o 1
Fg K % % & " HE it
HE Wie BASTHOOWW-D (BE AL
it ¥ AHAH AR DA S =1 O #R
% * ~ ‘ ;
= o SHINI 2z spmsn 024
1751'3 i&m‘ E&)ﬁ E& A H Eq ﬁty( H }ig Shini Plastics Technologies, Inc. %*I‘ £ ‘




MAKA| VerB
@)

EEE QeSS i @

—

P gmy ©

L=

]
k
9
—
9
=1
[T
T
TORONA

[

LA

367.5

[©]

Technical requirements: 2 STM-1220W-D-B-ALL internal structure 1 Assembly

1. Unmarked dimensional tolerances shall be in accordance with the m-level provisions of

(B/T1804-2000 "Tolerances for Linear and Angular Dimensions without Specified Tolerances", W STM-1220W-D-A-ALL Shell sheet metal 1 Assenfbly

FE £ % £ #® MR BE &
Gk WE| o |BE crvoizowen (B b o | RE|
o - STM-1220W-D-ALL-ZP
o . KBk KM A RIEA ==l 1
et 20240721] Bef i SEFIN ] EoRrsnntERAR REER
iR B ERE EHRA H HH HE | 20210714 , ,,; Shini Plastics Technologies, Inc. | 4 HE ‘ /




L8 STM-1220W-D-B-10 Hot water bypass SUS304 | 2
L7 YW85001000100 Pressure gauge 2 071, 0MPa Range
L6 YW66102500000 PFlat washer 10x2511.5 Q235A 8
L5 YW65010000000 Standard spring washer 10 65Mn 8 GB/T93
Lk YW64000600300 Hexagon nut M6 Q235A | & GB/TE170
43 YW65060000000 Standard spring washer 6| 65Mp 2 GB/T93
L2 YW66061300000 Flat washer A grade 6 Q235A [
41 STM-1220W-D-B-09 Air exhaust pipe 2 SUS304 | 1
40 STM-1220W-D-B-07 Vater inlet pipe 2 SUS304 | 1
39 STM-1220wW-D-B-08 Air exhaust pipe 1 SUS304 1
38 YR20121200000 Plexible graphite pad 1S0-68 2 120x120%2.0
37 STM-1220W-F-ALL Sl dnarin o ociele 2 | welding parts Borrowed
36 S-190 Heating tube cover SPCCI0 | 2
35 STM-1220W-D-B-05 Cooling water bypass pipe | SUS30L | 1
34 STM-1220W-D-B-04 Drainage joinl component 1 Assembly
33 STM-1220W-D-B-03  [Vater inlet joint t 1 Assembly
32 STM-1220W-D-B-13 Low pressure pipe SUS304 | 1
31 STM-1220W-D-B-06 VYater inlet pipe 1 SUS30L | 1
30 STM-1220W-D-B-11 High pressure pipe 1 SUS304 | 1
29 YW05121200100 Sleeve connector 2 1IMMX1/2’ ' PT L-type (H59)
28 YE90832500000 igh and low pressure switch 2024 1 HLP330HME
27 YW05083800100 Sleeve connector A 8MMX3/8"PT  L-type (H59)
26 YW05061400000 Sleeve connector A 6MMX1/4"PT(H59)
25 S-199 H to PT connector H58 5 |1/4™1 to 1/4"PT female thread
24 YE90002000000 Pressure switch coatroller ELPS20B PVC 1 572086 self-recovery
23 YW61083000000 Toner hexagon cylindricel screw ME30 12.9 A GB/T170.1
22 YW66081900000 Flat washer 8 Q235A L 8x19x2.0
21 YW05083800000 Sleeve connector 2 8MMX3/8"PT (H59)
20 STM-1220W-D-B-1k4 Pressure gauge pipe SUS304 | 2
19 STM-1220W-D-B-12 High pressure pipe 2 SUS304 | 1
18 YW59001500200 Auto Air exhsust valve DNIS Cu )
17 STM-1220W-D-B-02 Return water pipe 2 Yelding parts
16 YW62051000100 Cross socket flat-head screw M5x10 | ()235A L JISTN
15 BH90115000250 High-temp. tester 2 EGO
1L YW61102500000 Taner hexsgon cylindrical scrow W1Ox2S| 129 20 GB/T70.1
13 YR10150000000 Flange pasket 1S0-68 | & TP-150-A-18 (has mould)
12 YW0L030800400 Tonflon connector H58 27 1/6"PTx3/8"H L
n S-171 Teflon plug H58 2 3/8"H plug
10 YW64080600000 Hexagon nut M8 0235A | 8 GB/T6170
9 YW66082200100 Large washer C grade Q235A | 16 GB/T968(8.Lx2Lx2)
8 YW65008000100 Standard spring washer 8 65Mn 12 GB/T93
7 YW60083000200 Hexagon screw bolt M8x30 L8 8 GB/T5783
6 TP-150 pump 0235A | 2 TP-150 Anbo
5 STM-1220W-D-B-01 Heating Tank 7 Velding parts
A BE90340200050 Thermocouple SUS30L | 1 M
3 YWO05061400100 Sleeve connector 5 6MMX1/4 ' PT L-type (H59)
2 BEY0342500050 Thermocouple SUS304 | 1 2.5M
1 YW50030800900 Ball valve HS8 2 | 3/8" KITL anti-temp. 180°
iaa ® 5 £ % HE (48 fx 3
HE | ERX | RE| o [™ stmompowon R R —— | s gk
it | TRX | g s © | K
Bk * SHINJ £5rrnansunas ol
e | Eed EdE EXA | EE | ¥H BR | 20207 | Qe Shini Plastics Technologies, Inc. | 445 ‘




) | (=
RSl
1]
)
L0 YP30£423000000 Aluminua Label 2024 2 To mould
- 39 YW69461600000 Hand screw Mds6#16 | SPC(25 | &
b & 38 STM-1220W-D-A-08 Rear panel small cover plate | SPC(12 2
31 YP30422000000 Aluninum label 2024 2 from mould
36 YP30425000000 Aluninum label 2024 2 Pressure gauge
N 35 YP31091040000 Aluminum label 2024 1 | Regularly clean the filter
34 YP30431000000 Aluminum label 2024 1 Yater inlet
1 1IN S|l | o [
32 YW06203100400 Hinge 2 | CL203-1 (left) Shengjiu
31 YP31115800600 Auminum label 2024 1 STM Maintenance
@ ﬁ 30 YP30804900700 Aluminum label 2024 1 SHINI Nameplate
29 STM-1220W-D-A-07 Cover plate SPCC12 1
368 28 YP30802700000 Shini Trademark 1 black
| 799 - 217 YE84003500600 buzzer PK-35A 24V PVC 1
26 YE40100300100 Dongyuan Circuit Bresker | 02354 | 1
25 | STM-1220W-D-A-03 Door plank SPCCIS | 1
24 YP30048500000 Aluminum label 2024 1 | 485 Communication connector
23 YE90048501200 RS485 interface board 1
o 22 YRL0048500000 Shell RS485 1
21 STM-1220W-D--A-0L Blectrical base plate 1 Welding parts
E YW90120700000 Aluminun cooler 6061 | 2
2 YW00816100000 Door lock 2 MS816-1VYith keys
YW66061800000 Large washer A grade Q235A | 16 GB/T96.1(6x18x15]
YW03000300000 3" Bquipped with brake casters | Q235A 2
YW62061000000 Large oross soctet flat hesd screy Ml | (0235A L Jsnm
YW62051000100 Q235A L Jsnm
YE67321500100 Copper nickel plated cable connector H62 1
SG-5-01 Vire fixture fixed plate | SPCC2.0 1
YP31051650000 Power aluminum plate label 2024 1 | Power triangle 3-phase 400V
YP30429000000 Aluninum label 2024 1 Drain outlet
_ YW03000300200 3" Yithout castor with brake Q235A 2
H“NHHW”HNHW‘ 9 | STM-1220W-D-A-02 Control box SPCCIS | 1
l L 8 YW60061500100 Hexagon screw bolt M6x16 129 20 GB/T5783
| i 32|17 YW66061300000 Flat washer A grade 6 | (0235A | 8
Kg%ﬂg:g:gzg 6 YW65006000100 Standard spring washer 6 | 65Mn 20 GB/T93
= 5 YW64000600300 Hexagon mut M6 Q235A | 8 GB/T6170
L STM-1220W-D-A-05 Pump fixing plate SPCC2.0 | 1
= 3 YW62063000000 atge cross sooket lat heed sotew Mox39 (Q235A 8 Jsnm
2 STM-1220W-D-A-06 Side plate SPCC12 2
1 STM-1220W-D-A-01 Rack 1 Velding parts
i &k % % % LLiaE.¢ | £t
Technical requirements: HE W A TR STM-1220W-D 5 i ‘ 110 | HE 1
1. Trimming and deburring; N STM-1220W-D-A-ALL
2. Dimensional tolerances not specified shall be in accordance with Bt ) hR%s E‘ @ BB /
" ' A R : -
g];ég?(i):;?oﬂ?er:zi:;:nces for Linear and Angular Dimensions without A&E 20ze0221] BeAt * gHI‘v EEERBERAEIIRAR REER /
The M-level regulations. ﬁ{ﬂ BERE ERE ERA B ¥ H# | 20210714 7 Shini Plastics Technologies, Inc. %ﬁ%‘ /




220 | 109
10 YW05061400000 Sleeve connector 1 6MMX1/4’  PT (H59)
9 YW52010400000 Stainless steel water pipe three-way 1/4' SUS 304 1 1/4"
8 YW05061400100 Sleeve connector 1 6MMX1/4’ ' PT L-type (H59)
1 S-08 Pipe coupler H58 1 1/4"PT#1/4"PT
6 YW05121200100 Sleeve connector 2 12MMX1/2' 7 PT L-type (H59)
5 YW59201500100 Zhongda 3-way DN20+DN15 SuS30c4 1
L | STM-3050F-B-08/01 Copper connector H58 1
3 STM-3050F-B-06 Copper nut Ho8 .
7 YW57030400000 Y-shaped water filter valve 3/4" Cu 1
1 S-12L4 COppeI jOiﬂt 3/4"PT'I125 HG2 1 3/4 "PT external tooth 019 through-hole
k5 K ¥ £ & LEES i

HHE B B STM-1220W-D . s Hﬁ{ﬁj‘ e

Ll # A A =Rk

% * —~ ‘ ;

o SHINI i53:sssmmsn 205

e ERW -3 45 EHRA Bl | WH H Shini Plastics Technologies, Inc. WRE ‘




T [[HI i T 1
170
CH
o 9 YW05061400000 Sleeve connector 1 6MMX1/4’/ PT (H59)
8 YW59201500100 Zhongda 3-way DN20+DN15 SUS304 1
7 YE32203000900 Sleeve connector 2 3/8" Air TAC 24VAC
6 YW05083800100 Sleeve connector 2 8)MX3/8"PT L-type (H59)
5 YWO0L4030800000 Copper connector 3/8 inch » 1/2 inch L-shaped H58 Vi
b STM-3050F-B-08/01 Copper connector H58 1
3 STM-3050F-B-06 Copper nut H58 1
2 YW51030400000 Stainless steel water pipe straight through 3/4" SUS30L4 1
1 S-124 Copper joint 3/4"PT#n25 HE? 1 3/4 T external tooth 119 through-hole
FE ® % % & e HE &
HE & BESTH-220w-D @S AL
#it ¥ A L4t O HR

SHIN ¢55snnsanss AHER
£ Bkﬁ'l E &)ﬁ E &A H Eq ?ﬁ H }iﬂ — Shini Plastics Technologies, Inc. % *I‘ s ‘




	机构图STM-607W-D-3Φ230V400V50HZ(VER.H)EN BP33607305900
	机构图STM-910W-D-3Φ230V400V50HZ(VER.H)EN BP33910304500
	机构图STM-1220W-D-3Φ230V400V50HZ(VER.B)EN BP33122007500

